Manuals+ — User Manuals Simplified.

plum 22419AA108 Cube XL =3
Crow’s Nest Expansion Pack § { \

plum 22419AA108 Cube XL Crow’s Nest Expansion Pack
Instruction Manual

(="
Jus

Home » plum » plum 22419AA108 Cube XL Crow’s Nest Expansion Pack Instruction Manual -

Contents
1 plum 22419AA108 Cube XL Crow’s Nest Expansion
Pack
2 Product Usage Instructions
3 Advisory Section
4 Routine Maintenance
5 Assembly
6 PLUM PRODUCTS WARRANTY
7 Documents / Resources
7.1 References
8 Related Posts

&
N

% O
€ active play ¥°

plum 22419AA108 Cube XL Crow’s Nest Expansion Pack


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/plum
https://manuals.plus/plum/22419aa108-cube-xl-crows-nest-expansion-pack-manual.pdf
https://manuals.plus/#plum_22419aa108_cube_xl_crows_nest_expansion_pack
https://manuals.plus/#product_usage_instructions
https://manuals.plus/#advisory_section
https://manuals.plus/#routine_maintenance
https://manuals.plus/#assembly
https://manuals.plus/#plum_products_warranty
https://manuals.plus/#documents_resources
https://manuals.plus/#references
https://manuals.plus/#related_posts

Product Specifications

« Product Name: Cube XL Crow’s Nest Expansion Pack
« Model Number: 22419AA108

o Material: Premium Timber

« Dimensions: Various sizes as per assembly instructions

« Recommended Age: Suitable for children under adult supervision

Product Usage Instructions

Safety Precautions
Before assembly and installation, read the instructions carefully to ensure the safety of users and installers.

Timber Care Advice
The product is made from premium timber. Here are some care tips:

« Timber is a natural product and may develop openings or warp over time.
« Apply a water repellent treatment annually to protect the timber from fading and weathering.

« After the first year of use, treat the product with a child-safe treatment.

Routine Maintenance
Regularly check all main parts and fixings for security, sharp edges, and integrity. Replace or tighten parts if
necessary to prevent hazards or injuries.

Extended Warranty Registration
Register online for the extended warranty by visiting the website at www.plumplay.co.uk/register. Warranty
Number: 22419AA108 (UK only).


http://www.plumplay.co.uk/register

Frequently Asked Questions (FAQ)

« Q: How often should | apply a water repellent treatment to the timber?
A: It is recommended to apply the treatment annually to protect the timber from fading and weathering.
« Q: What should I do if | notice any defects in the parts during routine maintenance?

A: Replace defective parts immediately. For further assistance, contact customer services.

Thank you for purchasing from Plum® Plum® are the playtime specialists providing the fuel for imaginations to
flourish. For over 30 years we’ve been inspiring fun across the globe. We are passionate about encouraging play
in a fun yet safe environment, allowing children freedom of play and parents peace of mind.

Advisory Section

To ensure the safety of you, the installer and your children, it is important that these instructions are read fully
before commencing the positioning and installation of this product.

Timber Advice

This product has been made from premium timber. Great care has been taken in selecting, treating and machining
the timber before it is presented to you. Timber is a natural product and as such may experience changes
throughout the course of its life. This means it may:

« Develop openings (gaps, slits, apertures, cracks, splits) along the line of the grain. These openings are due to
the difference in moisture content between the internal and outer surfaces of the timber. This is to be expected,
is totally acceptable and will not affect the integral strength, life or guarantee of the product.

« Warp and distort its shape. Any distortion will be slight and will not affect the safety or enjoyment of this product.

« Fade as the timber reacts with sunlight. The timber should be treated with a proprietary product to act as a
protective barrier, i. e. a water repellent, on an annual basis.

« After first year of service treat product with a good quality treatment safe for children’s use.

Routine Maintenance

It is advised that on a regular basis (i.e. at the beginning of the season and monthly thereafter) all main
parts/fixings are checked as secure, well oiled (if metallic), have no sharp points/edges and are intact. Replace, oil
and/or tighten when necessary. Failure to do so may result in an injury or hazard. Replace defective parts
immediately, for further information contact customer services.

WARNING!
Minimum user age 3+ years

« Adult assembly required

« Adult supervision required at all times

o Maximum user weight 50kg

« Only for domestic use

« Outdoor use only

« Not suitable for children under 36 months — small parts, choking hazard — fall hazard

« Retain assembly instruction for future use

« Place on a level surface at least 2m from any structure or obstruction such as fence, garage, house,

overhanging branches, laundry lines or electrical wires



« Must not be installed over concrete, asphalt or any other hard surface

« The anchor is to be fitted to prevent any lifting of the frame during use

« ltis advised that on a regular basis (i.e. at the beginning of the season and monthly thereafter) all main
parts/fixings are checked as secure, well oiled (if metallic), have no sharp points/edges and are intact. Replace,
oil and/or tighten when necessary.

Failure to do so may result in an injury or hazard

« Any attachments such as swings, chains, ropes, etc must be regularly examined for evidence of deterioration.
Replace any attachments if there are signs of deterioration. Failure to do so may result in an injury or hazard

« Please do not make any modifications to the product, it may result in an injury or hazard

« Do not overtighten nuts and screws as this may cause them to shear and potentially cause structural failure

« It may be appropriate to ensure that the slide is not facing the main direction of the sun to prevent the surface
being uncomfortably warm

« Please keep animals at a safe distance from this product.

Register online now for your extended warranty!*

« Visit our website at: www.plumplay.co.uk/register
o Warranty Number: 22419AA108

Hardware


http://www.plumplay.co.uk/register

D3252 ' D3261 . |
133244 30mm x1 786 x 118 x 18mm X8
D3253 L. " D3262 ‘ . ‘
1332 » 88 x 44mm x1 = -
890 x 118 x 18mm %3
D3254 I@@ @@{ 3263 -
825 x 88x 4dmm %1
D3255 5 T N X2
1332 x 88 x 44mm X1 H330
D3256 L= &]
1332 x 44 x 4dmm %1 x4
D3257 H331
689x11éx18mm %G { [ -]
%1
D3258 ¥ -
689 % 75 x 18mm x2 | H333
D3259 * . P
825 x 44 x 44mm x1 W
D3260 0@ ®,
390 x 68 x 68mm X2 %1
H13 H310 M8 FIX0031
.@ %32
@ S M8 FIX0093 |
w2 T %26 *26
H238 M8 FIXD085 &
{(16mm) <
p) [ —
B BX M5 x 40 8 M8 FIX0086
Y- . (25mm) 56
[=]
§ Ma FIx0170
M5 x 40 FIX0173 °
s x110 FIXD;;é )
M5 x 60 FIx0174| MB*50
S0mm l %19 x2
M8 % 90 FIXx0069
M5 x 70 FIX0033 SE—— ol
%12
M6 Fixo121 | M8x 105 pr— ___lFMDOSB ‘
I--r'-[]rnrn*-| %2 o x22
MS x 70 FIXx0230
M6 Washer leooig —70mm—] X227
M6 x 40 FIX0129| M8 x 110 FIX0231
= 40mm-=] x2 e—110mm—= 8 (e
Omm 10 20 30 40 50 a0 70 20 a0 100 110 120 130 140 150 160 170 180
e e

Assembly




JLL

A
















h

H326




b3239

Ma

ME e

(25mm)

05—

- [)mmmmm:»l

80mm

1008 x 68 x 6Bmm

wEae
05—
M8 x 110  (fnm——m—
< 1omm—

¢

-
=

=

e

=

225 x 88x 44mm

%2

%2

%1

%




M5 x 60

H326 |

i L —

22222
XXXXX

M8
(25mm)

D3242 [ = [




ME x 110

2100 x 68 x 6Bmm

M8 x 110

M8 x 105




M8 x110

M5 x 60

ME
(25mm) *®  H330
M8 @ x3

MExT0

T MB% 90 [——
-0
M

M8x 105  [———

D323 &

2100 x €8 x 68mm

x2

%2

x1

x1

®1

%1




N\

A

N

D3253 [

1332 x 88 x 44mm

— ME
(25rﬂm) 1
I M8 @ %4
MEx 70 (ooewmmm <4
H—?Dmm—'-l
H330 %1
a a
) ¥
q\ &
Te
x4
o«




x4

VERNGEY

&
S
te——105mm—=

M8
(25mm

x4

M8 x 105

TGO

M8
(25mm

x4

ba+——105mim—=]

M8 x 105

%1

D3229 |-

1332 x 88 x 44mm




60mm:

70mm

550 x 68 x 30mm

60mm

70mm

x2

550 x 68 x 30mm




[
]

_-?-1
-
IT :

\
(= 7,
V4

\_ =
I
T
|
=

|\

l

L,

D3260 |@ ®

350 x 68 x 6Bmm

(hggmrm @
M8 @ X8

MEx 70  (ommmmm 12
t=—70rmm—=l

D3263 [, ®

g

390 x 68 x 68mm




D3255 [* .. T x

..x.

T

\!

Mg &5 x4
M8
E25mm1 x

M8 x 105 E_ x4
i=——105mm—!







g
=
@ -
T E ;
@ Q ﬁ
@ ﬁ_m .
—— :
=] ﬁ,_l ;
@ m m

689 x 118 x 18mm

1332 x 44 x 30mm

O i —u
1R ,g._,. |




M5 x40 |uomowmese= %3
H—4Dmm—-l

D3261 r '| *2
796 x 118 x 18mm

M5 x 40 []mmmm::l x8

—A0mm—

D3261 |' '| %2
T96 x 118 x 18Bmm




*4

i
7
H—rlOmm—-J e

 796x118x 18mm

I— i
1l 4
ETL __ p
g1 * &
£ ] 3
= al
EIT] __
_....,L’ - -
1 )
# %o %
- ]4 3‘_ aA )
il
d ;3 g
i
7 . .m.“”\._ hh i % :
i m. .. .mm l___._.ﬂ \ :\ q‘”‘_\
\ = Y i v A —

<
£ E
== ||
TR
»
3
x
i
=]
o
LM
ol
sl
O
h_
__W
]
A=
-




PTG G G
o v o s ._L

P

l\ @@t e®

D3262 | . %3
690 x 118 x 18mm




X

||||||||||||

200mm

H331 ¢

||||||||||||||||||||

—




/ \ ...m.__. i
______ [ A / t
; - |
j

V)

h

VA
-. q.-_
.I,a

VA

77
7 £
YA,
BT
)
iy _,,.,,
W,

/ J
/

RN )
g Bs

x
&

M5




H

O \\—
AN, N
A= T
_ =1 ks
) ol
; A
o h T e .
J % = AR g T
- 3 ) ¢
£ AN A\ L i
v / g ¥ ;
LY - =
M‘I.‘ iy - Ll g b1} -
¥
A TR -7~
n i e
oo s

T ﬁ\\

W J

.\

T
=
..l..
I |J..Vfl. -5

=




S ~e— R

Mex40  H > x6
H17 @) M6 x6 M6 @9 x6

Australia only / Uniquement en Australie

PLUM PRODUCTS WARRANTY

« Subject to proper installation and normal residential use, Plum Products (“Plum”) play products are warranted,
subject to the limitations stated below, to the original retail purchaser or owner to be free from manu-facturers

defects in material or workmanship for a period of 1 (one) year from the date of original retail purchase. All



warranties may be registered. To register your warranty please visit www.plumproducts.com and retain your
proof of purchase for the warranty period.

« Goods covered under this limited warranty will be replaced or repaired, at our option, and returned to the
customer at no cost to the customer. Plum reserves the right to examine photographs or physical evidence of
goods claimed to be defective and to recover the goods prior to settling a warranty claim.

« Non —residential use of the play products is prohibited and there will be no warranty for any commercial,
competition or playground use as these products are designed for residential use only. No warranty shall apply
on equipment subjected to abuse, negligence, improper installation or use, vandalism, acts of God,
unauthorised alteration or attachment to other equipment, improper use or repair by the customer or a third
party.

Whilst every endeavour is made to ensure the highest degree of safety in the product, freedom from injury cannot
be guaranteed. It is essential to install correctly in accordance with installation instructions, supervise your
children’s play activity and maintain your play equipment periodically according to manufacturer guidelines. This
warranty does not cover scratching or scuffing of the product as a result of normal wear and tear and any minor
defects which do not affect the functionality of the product. This warranty is expressly in lieu of all other warranties,
express or implied given by Plum. Your statutory rights remain unaffected. Our goods come with guaran-tees that
cannot be excluded under the Australian Consumer Law under which you are entitled to a replacement or refund
for a major failure and for compensation for any other reasonably foreseeable loss or damage. You are also
entitled to have the goods repaired or replaced if the goods fail to be of acceptable quality and the failure does not
amount to a major one.

To make a claim please contact us immediately on our customer service number or email below.

« Telephone Plum Customer Services: 1800 900161
« Email: Aushelpdesk@plumproducts.com

All claims must be made within 14 days of purchase or within a reason-able time of awareness of defect and must
be accompanied by proof of purchase. Please therefore retain proof of purchase. Plum may reject claims which
are not made within a reasonable time and/or where there is no proof of purchase. Plum will meet the cost of all
agreed and validated claims.

Thank you for purchasing our product.
Plum Products Australia Pty Ltd, Suite 303, 156 Military Road, Neutral Bay, NSW 2089, Australia.


http://www.plumproducts.com
mailto:Aushelpdesk@plumproducts.com

Plum Products Ltd,
The Cliff, Middle Street, Ingham, Lincolnshire, LN1 2YQ, UK

. Tel: +44 (0) 344 880 5302
« Fax: +44 (0) 152 273 0379

« Email: contactus@plumplay.com www.plumplay.co.uk

« Plum Products Australia Pty Ltd, Suite 303, 156 Military Road, Neutral Bay, NSW 2089, Australia
« Tel: (02) 8968 2200

« Email: Aushelpdesk@plumplay.com www.plumplay.com.au

EU Authorised Representative Vulcan Consulting, 38/39 Fitzwilliam Square West, Dublin 2, D02 NX53, Ireland

Copyright Plum Products 2024

Documents / Resources

o
€
=

o
Q

<

plum 22419AA108 Cube XL Crow’s Nest Expansion Pack [pdf] Instruction Manual

22419AA108, 22419AA108 Cube XL Crow s Nest Expansion Pack, Cube XL Crow s Nest Expa
nsion Pack, Crow s Nest Expansion Pack, Expansion Pack, Pack

References

Plum Play - Trampoline, Swings & Climbing Frame Specialists

. Trampolines, Swings & Slides, Outdoor Play | Plum Play®



mailto:contactus@plumplay.com
http://www.plumplay.co.uk
mailto:Aushelpdesk@plumplay.com
http://www.plumplay.com.au
https://manuals.plus/m/2d4399cc35ef118bf3aad679457fd0501fbb3d35192df73bcaef08a9977c03cc
https://manuals.plus/m/2d4399cc35ef118bf3aad679457fd0501fbb3d35192df73bcaef08a9977c03cc_optim.pdf
http://www.plumplay.co.uk
http://www.plumplay.com.au

« User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manual.tools/?p=15236209#MTA0LjI4LjIzNC4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	plum 22419AA108 Cube XL Crow’s Nest Expansion Pack Instruction Manual
	plum 22419AA108 Cube XL Crow’s Nest Expansion Pack
	Product Usage Instructions
	Advisory Section
	Routine Maintenance
	Assembly
	PLUM PRODUCTS WARRANTY
	Documents / Resources
	References



